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	1.

	Write three different Sets in the roster method by taking different objects in your surroundings. 

	2. 
	Develop any three Sets in the Set builder form by using any type of numbers in the number system. 

	3.
	If A = {1, 2, 3, 4, 5, 6, 7, 8} and B = {5, 6, 7}, Then find 

(i) A – B

(ii) B – A., and check whether A – B is equal to A – B


	4.

	If A = {1, 3, 5, 7, 9} B = {5, 6, 7, 8}  and   C = {7, 8, 9} 
 Then find (i) 
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	5.
	Give that  
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   Then find (i) 
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	6.
	Write down all the subjects of the following sets:  

(i) A = {a, b) and 
(ii) B = {1, 2, 3}
Observe and establish any relationship between number of elements and number of subsets of a Set.


	7
	Cite an example of Set A and Set B, where Set A is subset of Set B.  Draw Venn diagram for A – B and B – A, when Set A is subset of Set B (
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	8
	If 
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 then verify that
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(ii)   
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	9. 
	Let N be the universal set of natural numbers and A and B be its subsets given by
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Find the complements of Set A and B.


	10.
	Let 
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 then verify that

(i)   
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(ii)   
[image: image19.wmf]'

AAQ

Ç=


(iii)   
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	11. 
	Differentiate between equal and equivalent set with examples


	12.
	Find the power set of the following sets:
(i)   
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(ii)   
[image: image22.wmf]{

}

: and 1y3

ByyN

=Î££





_1656153205.unknown

_1656153209.unknown

_1656153213.unknown

_1656239652.unknown

_1656240334.unknown

_1656153215.unknown

_1656153216.unknown

_1656153217.unknown

_1656153214.unknown

_1656153211.unknown

_1656153212.unknown

_1656153210.unknown

_1656153207.unknown

_1656153208.unknown

_1656153206.unknown

_1656153201.unknown

_1656153203.unknown

_1656153204.unknown

_1656153202.unknown

_1656153198.unknown

_1656153199.unknown

_1656153197.unknown

